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MISSION SELECTION — SSC 2024
HOME - WORK

Q.. If ‘eye’ is called ‘hand’, ‘hand’ is called ‘mouth’, ‘mouth’ is called

‘ear’, ‘ear’ is called ‘nose’, and ‘nose’ is called ‘tongue’. From which of

the following would a person hear?
qf 'S T T HT ATAT 3, 1A' Rl "HE' gl AT 2, "HE' Wl "
HET ATAT B, "R Y HThR' T ATAT 8, A TR S 'S’ HgT ATdT 2

ek st Frfefia i & forerds g
(A) eye

(B) mouth
(C) nose
(D) ear
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(@RajSingh-dr2fx 14 hours ago
MNose

I:I'_L.n' 1 O] Reply

L

(@RahulPatel-wd5lu 16 hours a
Nose

o 1 §F Reply

@ankitKumar-th1iz 16 hours ago

MNose

5 1 8 Reply

(@aartivermal1280 16 hours ago
Nose

oh 1 §F Reply

(@Jyoti-kumari-patna 16 hours ago

MNose

L 7./ Reply
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Q-1 In the following question, letters-cluster series is given
with one term missing. Choose that correct alternative
which will complete the series.

frefeiaa wg ¥, srenaE duen fi g T R T g o
31 38 Tl forehew o1 T S S SEET S IR S

ase, hzl, ogs, ?
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Q.2 In the following question, number series is given with

one term missing. Choose the correct alternative which will

complete the series.
freferRaa v , vt sfaen §1 3 @ s tw ugs e B 9%
TEt forehed T ST @t Sl I
16, 64, 32, 128, 2, 256

(A) 65
(B) 64
(C) 61
(D) 70
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Q-3 In the following question, select the one which is

different from the other three alternatives.

freferiRaa o , 38 9+ 51t o= i foreredi & fore 21

(A) (19, 40)
(B) (18, 38)
(©) (27, 56)
(D) (25, 53)
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Q-4 Select the correct combination of mathematical signs to

replace * signs and to balance the given equation.

* Torg! al TfaeATiud o 3T T3 7T WHTRTuT sht dqierd ot o
foru wrivrdt frgt o wdt w1 =9 &
40 * 10 * 2 * 33 * 15 * 93

(A) =x+—+
B) —+=—+
(C) x+=x-—

D) =—++x
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Q-5 Select the one which is different from the other

three alternatives.

I8 T I 31 o faremeut 4 i

(A) 63-369
(B) 92-814
(C) 49-1618
(D) 50-250
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Q-6 Select the one which is different from the

other three alternatives.

Y A Y o7 i forhedt & foe #

(A) Stylus
(B) Keyboard
(C) Mouse
(D) Pen drive
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Q-7 Select the term from the given options, which cannot
be formed with the letter of the given word.

fau o et § & o visg gftg, S fiw T wreg % erem A
TEl ST AT TehdT
INDIANLEADER

(A) INDIA
(B) LEADER
(C) LAND
(D) LOAD
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Q-8 Which one set of letters when sequentially placed at the gaps
in the given letter series shall complete it?

3T <hT <1<l AT HHE &1 715 3TEN AT H Tiwh TATT 0T shitieh &
Y T A W FH WA HTM?

¢ dd_bd c¢cb_ ¢ dd

(A) bedddd
(B) bedddb
(C) Cedddb
(D) bedbbb
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Q-9 Arrange the following words according to the order given in the

English dictionary.

freferRaa sregt @t oo vregaRter W foU 7T hu o TTAR saaferd @i
1. Translation

2. Transaction

3. Transport

4. Transparent

5. Transience

(A) 2,5,1,4,3
B) 2,5,1,3,4
©) 5,2,1,4,3
D) 2,1,3,4,2
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Q-10 Select the one which is different from the other three

alternatives.

W A Y o7 i foreheat & for ®

(A) Australia -5
(B) Bangladesh -3
(C) Indonesia - 4
(D) China -2
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Q-11 Four positions of a dice are given below. Select the

number which is on the opposite face of 3.

Teh U <l oR Rurfaat Fer &t 78 g1 36 G&A1 & 9aq i At 3
& Ferodiar wheteh W 2
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Q.12 Statements: All blue are green.
Some green are yellow.
Conclusions: I. Some green are not blue.

I1. Some green are not yellow.

(A) Only conclusion I follows.

(B) Only conclusion II follows.
(C) Neither conclusion I nor II follows.
(D) Both conclusions I and II follow.
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Q-13 What will come in place of the question mark?

21 TRIeg o T U ST STTETT?

—
770N\
PN X}

(A) 21
(B) 14
(C) 12
(D) 16



MISSION SELECTION - SSC 2024

Q-14 A man travels 18 km to the South then he turns to the left and
travels 16 km. Again, he turns left and travels 18 km. Then he turns to the
left and travels 15 km again. How far is he from the starting point?

T ATEHT 18 ToRwt gferur S oI o ohtaT § ToRt o &g oTR Heat 8 3R 16
TeR¥Y ST I Rt §1 8 TR & STl o7 WAt § TR 18 TeRvt T ams wwear
31 TRt o8 aTd ot e @ o R ¥ 15 %mﬁzﬁrwm%l EEICINEED
feig & fomat g 32
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Q-15 Amar takes 7 seconds to stand up from the ground and 8 seconds
to sit on the ground. He has to continue this process for some time.

Within 82 seconds, how many times must he have stood up?

T Rl THIA A T2 I T 7 Uehe 3T THI O S3- H § Uehe o10Td 8| T8
TiehaT S S AT Teh I THT BT, 82 Uehs o et AE feha1 I
©ET AT B

(A) 4 times
(B) 3 times
(C) 6 times
(D) S times
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Q-16 If 'SUTFQ' is coded as ‘13268’ and ‘GMNSEF’ is coded
as‘74516’ then how can ‘LREPP’ be coded?

afe 'SUTFQ' ST '13268' & &9 U shITSd fehaT ATaT & 31X
'GMNSF' & '74516' % U ¥ shifed faT JraT &, a 'LREPP
T HE RIS (hAT T TehaT &2

(A) 39577
(B) 34367
(C) 33347
(D) 39677
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Q.17. How many triangles are there in the given figure ?

& 773 arrenfa § feRa Brare €2
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A + B means ‘A is the sister of B’./ A + B T A 2 'A, B HT T 2
A — B means ‘A is the son of B>. / A — BT AY 2 'A, BGT[‘EI}T%’I

A x B means ‘A is the father of B’/ A x B ST 3T 2 'A, B T fuar 2

A = B means ‘A is the brother of B’/ A +~ B ST A 'A, B <1 ‘II'I'Q'%’

Q.18 IfSxM+U+L xZ—1is true then how is L related to I?
JRESXxM=+U+LxZ-1TTEal L, I & & H{read 22

(A) Husband / 9fd
(B) Son / &eT

(C) Father / fuar
(D) Brother/ ‘lil'l"\;£
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Q-19 In a certain code language,'152' means 'Lotus
flower pink’, '570' means ‘green flower costly’ and
’236° means ‘clouds are pink’. Which of the following is

the code for ‘are’?
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Q. 20 In the following diagram the boys who are athletic and are

disciplined are indicated by which number?

ﬁmﬁmﬁmﬁwwﬁ%ﬁﬁwﬁ

A. 1
B.2
C.10
D.6

»Bioys l[:ll — Athletics

A —6is [ ] —Disciplined
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Q.21 Statement: Physical exercise is necessary for good health.
37T TR o ToTU ITRITeR Smamy 31Ty 2|
Conclusions: 1. John plays Tennis at age of seventy.
ST IR Are hy 37 ° 2 @ #)
I1. Men with irregular habits have to go hospital.
SAfafie STTedl aTeY UHT SRt STEUTE ST Ugdl §

oAany
(A) Only conclusion I follows. feharet T eehY | TE0T AT 2
(B) Both conclusions I and II follow. /TSRS [ TR 11 20 AT & 2
(C) Neither conclusion I nor II follows./ Tl Feehd [ TR A& 11 JTTET CIGIE]
(D) Only conclusion 11 follows./shareT TsehY 11 TE0T CIGIN]
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Q-22 Select the related letters from the given alternatives.
fu T forehedt # | Hatea o1eR T g &l
1318 : ID :: 1523 : ?

(A) DG
(B) RK
(C) EK
(D) GI
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Q-23 Select the related word from the given alternatives.
fau T foremeut ® & Heifera yreg ot 99T W
2-18-15-23-14 : B-R-O-W-N : : 19-8-15-21-12-4 : ?

(A) S-H-A-R-E-D
(B) S-H-O-W-E-R
(C) S-H-E-I-L-D

(D) S-H-O-U-L-D
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Q-24 Select the related number from the given alternatives.
feu o foremeat @ @ Heifea &t T oaT @il
123 : 216 :: 217 : ?

(A) 125
(B) 343
(C) 1000
(D) 1331
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Q.25 FIND THE MISSING NUMBER ?

A .22
B .34
C .36
D 42
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Q.26 Choose the correct picture that fit the blank place.

I Tt forr g 1 i T R foRe 7

(A)D
(B) B
(C) A
(D) C




MISSION SELECTION — SSC 2024
Q.27 The above figure is embedded in one of these four figures. Identify

that figure.
IUXITR STTER{A 3 AR SATRIAAT H & Ueh W Ti~11ed gl 3T TR i UgaM.
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Q.28 66855373725887815536

How many such Ss are there in the above series which are
completely divisible by the number on its immediate left, but not
divisible by the number on its immediate right?

IURH T H U fohe 5 3 T 30k (Heheam arel o7 ht Jear o ol
T O fawrsT 2, ifer gaes fereaw aifet oiv &t v @ v
TR 2?
(A) 2
(B) 3
(€)0
(D) 1
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Q.29 Find the number of squares in the given figure.

31 T3 STTRTA | S <hl TEAT ATd ShITTUl
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Q.30 If + means +, ~ means -, - means X
and X means +, then find the value.

TG+ R AT + 8, + T AT - B, - FRT AT x §
AT x AT AL + &, AT AT AT shiTaTU)
16+2-4%xT7+6=7?
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Q. The average of 9 numbers is 40. If the average of the first five
numbers is 38 and that of the last five is 50, then what is the fifth

number?

0 TEATITT T AT 40 Bl AT TEAT UTa TEATITT T 7T 38 T 3R
3TAT U=l hT ATEA 50 §, aF UTera| HEaT &1 82

(A)90

(B) 78

(C) 84

(D) 80
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